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Part A: Grammar and Vocabulary
Directions: Questions 76-85 are incomplete sentences. Beneath each sentence you will

see four words or phrases, marked (1), (2), (3), and (4). Choose the one word or
phrase that best completes the sentence. Then mark your answer sheet.

79-

80-
81-
82-
83-
84-
85-

Billy's mother advised him ----------- too near the lion's cage in the zoo.

1) not go 2) not to go 3) to not go 4) does not go
The people ----------- in line to get into the theater were cold and wet.

1) stood 2) stand 3) standing 4) to stand

A: "I need to talk to you about something."

B: ""Sorry, but I'm ----------- to talk."

1) so busy 2) too busy 3) very busy 4) busy enough
A: "Tina went to sleep very early last night."

B: "She --------- very tired then."

1) must be 2) should be 3) should have been  4) must have been
In our family, the ----------- between father and his children is of high value.

1) project 2) measure 3) friendship 4) assignment
They are still ----------- the missing child.

1) calling up 2) pointing out 3) making up 4) searching for
Tokyo and New York are major ----------- centers.

1) financial 2) economical 3) proud 4) artificial
There are many species of plants and animals in danger of ----------- .

1) pollution 2) vehicle 3) extinction 4) climate

The pilot ----------- the plane safely, but there was a crash afterwards.

1) landed 2) located 3) reacted 4) floated

It's going to be a hard competition, but I'm physically and ----------- prepared for it.
1) silently 2) mentally 3) smoothly 4) similarly

Part B: Cloze Test
Directions: Questions 86-90 are related to the following passage. Read the passage

and decide which choice (1), (2), (3), or (4) best fits each space. Then mark your
answer sheet.

86-
87-
88-
89-
90-

Mother Teresa was a kind woman who devoted her time extremely to helping poor people.
Mother Teresa, whose (86) -------- name was Agnes Gencha Bejaxhiu, was born in Skopje,
Macedonia, the daughter of a grocer. (87) -------- she was 18 years old, she (88) -------- the order of
the Sisters of Our Lady of Loreto, in India. For 20 years she taught wealthy girls at the order's
school in Calcutta, which stood within sight of the city's worst slums. Then one night

she (89) -------- what she herself described as "a call within a call." To sister Teresa the
(90) -------- was clear. She must go among the poor and help them.

1) final 2) regular 3) central 4) original

1) As 2) When 3) Since 4) Whether

1) entered 2) attached 3) imagined 4) caused

1) placed 2) handled 3) forwarded 4) received

1) resource 2) comment 3) message 4) interest
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Part C: Reading Comprehension
Directions: In this part of the test, you will read two passages. The passages are

followed by some questions. Answer the questions by choosing the best choice (1), (2),
(3), or (4). Then mark your answer sheet.

92-
93-

94-

95-

96-

PASSAGE 1:

The Moon is the Earth's only natural satellite. As the Earth moves round the Sun, so the Moon in
turn revolves round the Earth. As it orbits the Earth, the Moon also turns on its axis. The time taken
to complete one rotation is the same as that taken for one orbit — about 29.5 days. So the same side
of the Moon always faces the Earth. Photographs taken by space probes have shown that the far side
is similar to the familiar near side.

The Moon releases no light of its own and shines only because it reflects the Sun's light. As it
turns on its axis only once in a journey round the Earth, each part of its surface has first about two
weeks of darkness and then about two weeks of sunlight. When the Moon comes between the Earth
and the Sun it is invisible because the face turned towards the Earth is in darkness and sunlight is
falling on the far side. This is the time of "new Moon". A few days later, a thin crescent Moon is
seen low in the western sky, as the Moon advances along its orbit and the Sun begins to light up the
side turned towards the Earth. Occasionally, during this crescent phase, the whole disc may be seen
faintly lit by Earthshine (light reflected from the Earth).

What does the passage mainly discuss?

1) The Moon's source of movements 2) Different parts of the Moon

3) New discoveries about the Moon 4) Some aspects of the Earth's satellite
The word '"'that" in line 3 refers to --------- .

1) time 2) rotation 3) orbit 4) axis
According to paragraph 1, all of the following are true EXCEPT that ----------- .

1) the two sides of the Moon are similar

2) one side of the Moon is always hidden from us

3) photographing the far side of the Moon is possible

4) the time the Earth takes to move around the Sun is stated

The journey referred to in paragraph 2 (line 7) ------------ .

1) is the one made by astronauts

2) takes about four weeks to complete

3) happens half through darkness and half through sunlight

4) 1s the Moon's turning on its axis every four weeks

According to paragraph 2, when the Moon becomes invisible to people on the Earth ------ .
1) it stops releasing light

2) the Earth falls into darkness

3) its far side is towards the Sun

4) the time for the "new Moon" ends

Which of the following words is defined in the passage?

1) Earthshine 2) satellite 3) probes 4) disc

PASSAGE 2:

World history is the story of peoples in different parts of the world developing their civilizations
over the centuries. In this encyclopaedia, the story is covered in a variety of articles, including one
on CIVILIZATIONS, which covers the great civilizations of the world. Information can also be
found in the history sections of each of the world's countries; in the biographies of individual great
men and women; and in articles concerning historic events such as battles, wars, discoveries,
political and social movements, religions, and so forth. Lots more can also be found in the Index
volume.
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This article presents a specially designed world history chart showing what has happened over the
past 7,000 years in all the main centres of civilization. From the earliest civilized peoples — the
farmers and town-builders of Mesopotamia and Egypt from 5000 to 4000BC — up to the present
day. You can choose, for example, the short period 800 to 650BC and, at a glance, see that several
important things were happening at different places in the world at much the same time.

It can be understood that this passage is taken from ---------- .

1) a history book 2) an encyclopaedia  3) an online article 4) a school textbook
The word '"one" in line 3 refers to ----------- .

1) article 2) history 3) variety 4) story

The time period covered in the present article ---------- .

1) is not clearly stated 2) is between 800 to 650 BC

3) is as long as 7000 years 4) 1s between 5000 to 400 BC

100- The first sentence of the passage, ''World history is ... the centuries,'" --------- .

1) is a classification 2) is a definition
3) refers to a problem 4) describes the importance of historical studies



